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T1rne 3 hrs
% 1 a
= b.
3
g
2 2 a. Explain with proper dlag am the 3 —schema arch1tecl:ure of DBMS.
’E b. What are the dlfferen'f“Wpéw of attributes? Explalmwnh example.
f Module-2"
3 a ! eratlon SELECT (o) and prove it is commutative.
b. pdate Operations, w1tma suitable examples.
4 a.
b.
5 a. Explain with suitable example the basic structui‘e
b. What are Views in SQE‘? Explain.
6 a. In SQL how (0

examples. ™

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

10 a. Discuss a Lock -]
ww;@“y

b. Describe Granularity of data items and Multiple Granularity locking.

4,

* % % Kk %
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7
8
% Module-5
9 a. Explain ACID properties 0 transaction in details.
b. Discuss the characterizing schedules based on recoverability.
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functions with gro p by and having clauses? With
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ased concurrency control issue in DBMS transaction processing.
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